
                                                                        INSTRUCTIONS 

For any further information please do not hesitate to contact us:    Tel.: +30 2108075387       Email: tech@hld.gr 

 

MODEL :              KAWASAKI Z 750 ‘08 

PRODUCT : NUMBER PLATE 

CODE : NP- KZ750/08 

CONTENTS 

     
  Base plate 
  Support brackets 
  4pcs. M6x25 screws 
  2pcs. M6x15 screws 
  6pcs. M6 nuts 
  2pcs. M6 washers 
   
   

MATERIAL 
SPECIFICATIONS 

The product is made of DCP iron sheet with 1,5 mm thickness. 
All are painted with powder paint (electrostatic) and are ready to be installed. 

        

 

     
                                                                                                          Photo Νο 1 

 
 

Placement 
OUR COMPANY SUGGESTS THE INSTALLATION BE CARRIED OUT AT A WORKSHOP OR BY QUALIFIED STAFF 

 Remove the entire plastic mud guard of the motorcycle. 

 Place the new holder in the place of the old one. 

 Slide the wires through the central hole if you intend to put a flash on. 

 Place the plate number and adjust it to the angle you prefer. 

 The holder has three extra holes in case you want to use smaller flashes on each side, as well as a lamp plate. 

 To rotate and turn inwards, unscrew the last piece of the plate holder. 

 Tighten all the screws. 

 

                                                
                                                                                                      

 



                                                                        INSTRUCTIONS 

For any further information please do not hesitate to contact us:    Tel.: +30 2108075387       Email: tech@hld.gr 

 


